PATHOLOGY EXAM 2 2004
1. The principal class of antibody in type I hypersensitivity reactions is:

A. IgA

B. IgD

C. IgE

D. IgG

E. IgM

2. The clinical manifestation of systemic lupus erythematosus are due mainly to:

A. A cell mediated reaction due to delayed type hypersensitivity

B. Granulomatous inflammation in the kidney glomeruli

C. Production of immune complexes and a type III hypersensitivity reaction

D. Antibodies binding to antigens in periarticular ligaments of the sacral spine

E. A deficiency in humoral immunity

3. Antibodies to which of the following antigens are more commonly found in the serum of patients suffering from Sjogren’s syndrome than other autoimmune diseases?

A. Cytochrome C

B. SS-A and SS-B

C. Myeloperoxidase

D. IgG

E. Scl-70

4. Human immunodeficiency virus (HIV) enters CD4+ T cells by binding which of the following cell surface molecules?

A. The T cell receptor antigen binding site

B. C3b receptor

C. Fc receptor

D. IL-1/TNF receptor

E. CD4

5. A pannus is:

A. A focus of granulomatous inflammation in the lung

B. An abscess within the buccal mucosa due to trauma

C. A blister on the side of the tongue due to amyloidosis

D. A scar following healing of an abscess within the myocardium

E. A mass of inflamed granulation tissue within the joint space of patients with rheumatoid arthritis

6. The CDC phase IV of HIV infection

A. Is the phase of acute manifestations associated with initial infection

B. Is largely asymptomatic

C. Begins when the patient has evidence of virus in the blood

D. Is defined by a circulating CD4+   T cell count of <200/μL

E. Is defined by the presence of anti-HIV viral antibodies in the patient’s serum
7. Rheumatoid factor is:

A. The gene on chromosome 22 that controls antibody formation to components within joint tissue

B. The genetic mutation on chromosome 14 responsible for the extensive cell mediated immune reaction present in rheumatoid arthritis

C. The name for an unknown virus believed to initiate the inflammatory reaction leading to rheumatoid arthritis

D. Is a patient’s IgG antibodies that react to his/her own IgG in rheumatoid arthritis

E. Is the most important diagnostic feature of Sjogren’s syndrome
8. A patient with HLA-B27 haplotype has a 90 fold increased risk of developing:

A. Rheumatoid arthritis 

B. Ankylosing spondylitis

C. Sjogren’s syndrome

D. DiGeorge’s syndrome

E. Systemic lupus erythematosus

9. A characteristic clinical manifestation of systemic lupus erythematosus is:


A. A butterfly rash of the face

B. Inflammation of ligaments in the cervical spine

C. Dense fibrosis of the skin that limits movement 

D. Dry eyes and dry mouth

E. Arthritis with progressive joint deformity and ankylosis

10. Natural killer cells:

A. Represent 70% of the circulating lymphocytes in the blood

B. Differentiate into plasma cells when stimulated by an antigen

C. Play a central role antibody dependent cell mediated cytotoxicity

D. Are activated by platelets

E. Help B cells differentiate into plasma cells

11. A ferruginous body is:

A. A plasma cell full of protein found at sites of chronic inflammation

B. A large mass of pulmonary fibrosis due to inhaled silica dust

C. A well defined zone of hemorrhage in the lung tissue

D. Filamentous asbestos fibers covered with iron containing pigment

E. A well-defined zone of granulomatous inflammation in berylliosis

12. An effect of chronic lead poisoning is:

A. Bruton’s syndrome

B. Atherosclerosis

C. Emphysema

D. Deposition of lead in mineralized tissue of bones and teeth

E. Cherry-red discoloration of the vermillion border of the lips 

13. Long-term inhalation of tobacco smoke predisposes to which of the following diseases?

A. Atherosclerosis

B. Hyperthyroidism

C. DiGeorge’s syndrome

D. Amyloidosis of the tongue

E. Rheumatoid arthritis

14. Unlike coal and silica dust particles, inhaled asbestos particles are more likely to predispose the patient to:

A. Rheumatoid arthritis

B. Anthracosis

C. Mesothelioma

D. Sjogren’s syndrome

E. Systemic sclerosis

15. The end-stage disease of chronic lung exposure to high amounts of silica dust is:

A. Tuberculosis

B. Lung abscess

C. Pulmonary massive fibrosis

D. Myocardial infarct

E. Pulmonary effusion

16. Following a dose of 200-500 cGy of total body ionizing radiation, the major clinical manifestations are the result of damage to:
A. Bone marrow and intestinal epithelial lining

B. The skeleton

C. The skeletal muscles

D. The heart 

E. The skin

17. The breakdown product of ethanol that is hypothesized to cause most of the organ and tissue damage in chronic alcoholism is:

A. Lactic acid

B. N-acetyl glucosamine

C. Acetaldehyde

D. Bradykinin

E. Low molecular weight ketones

18. Long-term (over 10 years) estrogen therapy (HRT) in post-menopausal women gives rise to greatest risk for:

A. Pulmonary emphysema

B. Renal carcinoma

C. Cervical cancer

D. Thromboembolism

E. Osteoporosis

19. In chronic alcoholism, sudden death is most likely to result from:

A. Cerebral atrophy

B. Fatty change in the liver

C. Rupture of esophageal varices

D. Peripheral neuropathies due to poor diet

E. Early stages of cirrhosis

20. Chronic ingestion of aspirin doses > 3 gram/day is associated with:

A. Increased risk of breast carcinoma

B. Euphoria and physiological dependence

C. Systemic granulomatous inflammation

D. Bleeding tendency

E. A blue-gray line along the gingival margin

21. Following herpes simplex I virus infection, the virus is latent within:

A. Epithelial mucosa of the oropharynx

B. Bone near site of primary infection

C. Ganglia of nerves that innervate the primary site of infection

D. Lymph nodes

E. T cells

22. Epstein-Barr virus has been implicated in which of the following diseases?

A. Hyperparathyroidism

B. Burkitt’s lymphoma

C. Rheumatoid arthritis

D. Sjogren’s syndrome

E. Salivary gland tumors

23. A characteristic lesion or disease of tertiary syphilis is:

A. A pannus within the joints of the pelvis

B. A marked decrease in circulating blood T cells causing immunosuppression

C. Burkitt’s lymphoma

D. A gumma with destruction of tissue locally

E. Nasopharyngeal carcinoma

24. A sulfur granule is:

A. The name given to abscesses that occur within the kidney

B. A partially calcified mass of actinomyces organisms

C. A partially calcified mass of necrotic tissue caused by ischemia

D. A yellowish lesion of oral mucosal epithelium caused by herpes virus VIII

E. The name given to accumulated cholesterol in an atheromatous plaque

25. Skipped….unreadable

26. What is the scientific name for a benign cartilaginous tumor?

A. Papilloma

B. Cystadenoma

C. Liposarcoma

D. Chondroma

E. Teratoma

27. Which tumor often contains teeth or tooth-like structures?

A. Leiomyoma

B. Teratoma

C. Adenocarcinoma

D. Squamous cell carcinoma

E. Osseous choristoma

28. Which of the following is a prominent feature of anaplastic cells?

A. Adequate differentiation 

B. Pleiomorphism

C. Karyolysis

D. Well organized architecture

E. Small pyknotic nuclei
29. What is the precancerous lesion in the mouth most frequently caused by cigarette smoking?

A. Anaplasia

B. Neoplasia

C. Dysplasia

D. Metaplasia

E. Hyperplasia

30. Which of the following tumors usually has a fibrous capsule?

A. Oral squamous cell carcinoma

B. Basal cell carcinoma of the skin

C. Colonic adenocarcinoma

D. Oral fibrosarcoma

E. Salivary gland adenoma

31. Which of the following often shows metastasis to distant organs?

A. Melanoma of the skin

B. Osteoma of the mandible

C. Adenoma of the lung

D. Hemangioma of the liver

E. Lymphangioma of the tongue

32. Exponential increase in death of which cancer has occurred in women in the last three decades as more women have started to smoke cigarettes?

A. Cervical carcinoma

B. Breast carcinoma

C. Ovarian teratoma

D. Uterine leiomyoma

E. Bronchogenic carcinoma

33. What is the reason for patients with xeroderma pigmentosum to develop multiple skin cancers?

A. Because these patients have inherited multiple mutated oncogenes

B. Because these patients have inherited more than one mutated cancer

C. Because these patients have acquired a mutated apoptosis gene in the gamete

D. Because these patients do not produce sufficient melanin to protect their skin cells
E. Because these patients are unable to repair damaged genes caused by UV radiation
34. Which of the following is considered to be a prototype of cancer-suppressor gene?

A. Ras

B. Myc

C. Rb

D. Bcl-2

E. bFGF

35. Benzo[a]pyrene is cigarette smoke is implicated in the causation of oral cancer, how does it act on cellular elements to cause cancer?

A. It binds to DNA directly to cause mutation and malignant transformation

B. It activates reverse transcriptase to synthesize new mutated DNA

C. It binds directly to cellular proteins, which are related to cell differentiation

D. It requires metabolic conversion to become an ultimate carcinogen, which cause mutation of DNA

E. It binds to mitotic spindles directly and causes tetraploidy and malignant transformation of daughter cells

36. Which of the following is/are causative agents for papillomas?

A. Human papilloma virus types 6 and 11

B. Epstein-Barr virus

C. Human T cell leukemia virus type 1

D. Human papilloma virus types 16 and 18

E. Hepatitis B virus

37. Which neoplasm most often causes hyperfunction of an endocrine gland?
A. An anaplastic carcinoma of that gland

B. A metastatic carcinoma to that gland

C. A large neoplasm that compressed upon the endocrine gland

D. An adenoma of that gland

E. A sarcoma in that gland

38. Some cancers can induce hypercoagulability leading to venous thrombosis and nonbacterial endocarditis. This is called:

A. Preneoplastic syndrome

B. Cachexia

C. Paraneoplastic syndrome

D. Hypercoagulability syndrome

E. Postneoplastic syndrome

39. During oral examination of an elderly patient, a cancer at the right lateral border of the tongue was found. The tumor measured 3 cm in its greatest dimension. There was one palpable lymph node on the right side of the neck. The node measured 2 cm in it greatest dimension. The tongue lesion and the lymph node were confirmed histologically to be/have squamous cell carcinoma. There were no palpable nodes on the left side of the neck. Medical images showed no distant metastasis to any organ. What is the staging of this cancer using the TNM system?

A. T3N2M0

B. T2N3M0

C. T2N1M0

D. T1N1M0

E. T1N2M0

40. What is the staging of the above cancer by using the AJC system?

A. Stage I

B. Stage II

C. Stage III

D. Stage IV

E. Stage V

41. What causes the distended abdomen in kwashiorkor?

A. Fatty liver and Ascites

B. Splenomegaly

C. Megacolon

D. Liver congestion

E. Cirrhosis

42. Deficiency of which vitamin most commonly causes xerostomia?

A. Vitamin B1

B. Vitamin E

C. Vitamin A

D. Vitamin B2

E. Vitamin K

43. Bleeding tendency occurs most often in which patient group?

A. Kidney failure

B. Left heart failure

C. Lung cancer

D. Splenic infarct

E. Liver cirrhosis

44. Deficiency of which vitamin most likely causes loosening of teeth?

A. Vitamin C

B. Vitamin D

C. Niacin

D. Pyridoxine
E. Vitamin B1

45. Deficiency of which of the following causes hyperparakeratosis and subsequent inflammation of oral mucosa?

A. Selenium

B. Niacin

C. Riboflavin

D. Zinc

E. Polyunsaturated fatty acids

46. What is the most important risk factor for atherosclerosis after age 45 years?

A. Hyperlipidemia

B. Hypertension

C. Smoking

D. Diabetes mellitus

E. Stress

47. Foam cells in a atheroma derive from monocytes and:

A. Endothelial cells

B. Fibroblasts

C. Smooth muscle cells

D. Adipocytes

E. Lymphocytes

48. The more common type of temporal arteritis is characterized by:

A. Acute Suppurative inflammation

B. Granulomatous inflammation

C. Serious inflammation

D. Fibrinoid inflammation

E. Necrotizing inflammation

49. What is the most common cause of abdominal aortic aneurysm?

A. Congenital malformation

B. Atherosclerosis

C. Syphilitic aortitis

D. Hereditary defect of elastic fibers

E. Inherited collagen malformation

50. Which tumor most often causes macroglossia?

A. Fibroma

B. Hemangioma

C. Lymphangioma

D. Kaposi’s sarcoma

E. Rhabdomyoma

